N of simulated tracks vs transverse vert position

Particles

Tracking
'50'\

=
Q
N
T
.

[y
o
w

10?

RatiQ
§

0.95

N of associated tracks (simToReco) vs transverse vert position

1'+“‘ + |

Recons@cted TPs

=
o

| N of simulated tracks vs z vert position

gParticles
=
QU

Trackin
=
o
w
m

=
o
N
T

10

. #ﬁ %‘ﬁ » %ﬁ?
2T LA it
i, f

1072

2

| N of associated tracks (simToReco) vs z vert position |

Recons@cted TPs
o
N

=
o

10 20 30
TP vert z (cm)

T 15

]
=¥
1|

Rati{[]]

i i { E
o8k A -HHH--FET- A4 e -4 - -
r 114 L :

o6 p 4T -FHH- b H - 44 FFHA--F 144
; ;

1072 10

1

10 1
TP vertr (cm)

N of simulated tracks vs. sim PV z

=
Q
r
T
.
.

TrackingParticles

.............

510

1520

TP Sim. PV z (cm)

Rati

0.95

230 -20 -10 0 10 20 30

TP vert z (cm)

| N of associated tracks (simToReco) vs. sim PV z |

Recons@cted TPs

Ratio

=
o
LM

10 15 20
TP Sim. PV z (cm)



	Contents
	Page 1


